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X—H—RIF
RE kw kw
B ERHEES
BB kw kw
i R Nm3/h Nm3/h
AR

BB Nm3/h Nm3/h
: LPG R kg/h kg/h

HR= RELHES (BER—2)
= R kg/h kg/h
LPG PE Nm3/h Nm3/h
A Nm3/h Nm3/h
B X1 0.526 kg-CO,/kWh 0.526 kg-CO,/kWh
#HAHR %2 kg-CO,/Nm?3 kg-CO,/Nm?

HeR s
LPG(EEAR—RX) %3 2.99 kg-CO,/kg 2.99 kg-CO,/kg
LPG(AFER—R) %4 6.52 kg-CO,/Nm?3 6.52 kg-CO,/Nm?
CO e B A kg-CO,/h B kg-CO,/h
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RIF LB R < HEH ) Hg% C kg-CO,/h D kg-CO,/h
CO2KIFZNR %
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X1 BAREREICOWVWT, SEFRNELNONESEADORBEEHIRAREFERLTVET,

X2 EHAZRDHEFRBICOWVWT, HRTOBTARBEE DL FRBREERLTTIZET,

X3 TONVOBREFREICOWVWT, BiEd BEVRABEERTE - BE - ARFEOHLAE—BZERLTVET,

X4 HEN—RTHRETZIEAE INM3=2.18kgTHB NS, 2.18kg/Nm3x2.99kg-CO,/kg=6.52kg-CO,/Nm3EFERL TV ET,




